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1. For a given system of linear equations

e+y—z = 1,
—r—-2y+32 = 0,
Sr+dy+az = =2

(a) Write the augmented matrix of the system above. Use row operations to reduce
this augmented matrix to its echelon form.

2 4 -4 i] RyesRy T—4 -2 3 o) ar+&-l
- =,
1 -2 3 O 2 4 -L A 0y Ry

50s-
|
5 4 o -2 s o o -2

-1 -2 3 o) =2t -1 —2 32 O7 Echelon form
_—

o -3 5 4 o -» 5 4 o} the
O -6 o+ls 2 o 0 o+5 -4 An@mm‘t@
matrix

(b) Determine for which values of « the system above has a unique solution.

Iﬁ A+5 =0, that s TQ od==5, then e s«dﬁem has ro soluton.
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2. Determine if the vectors
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are linearly independent. Explain why.
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(a) Compute 24T — B, where T denotes the transpose of the matrix.
(b) Show that B = A1

(¢) Determine if the columns of A span R3
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4. Consider the linear transformation 7" : R* — R? defined as
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Find the matrix of the linear transformation 7. Determine if the linear transforma-
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